Corner Brook Intermediate Math 8

Unit 2: Integers Name:

2.3 Using Models to Divide Integers

Instructions

1. Startat 0

2 The first integer tells you what direction to face and how many sets to move.

3. The second integer tells you to walk forward or backwards and how many groups.
4 The answer is your location at the end.

Example (=6) +(+2) = =3 *—__ | Tpe direction you are facing

f \ is the sign of your answer.
Trying to By walking The number of groups it
getto -6 forward took is the digit of the
(+) groups answer.
of 2

P | | | |
- | | I |

-10 -9 -8 -7

Practice

1. (=9)=(=3)

4 | | | | | | | | | | I | | | | | | | | | | »
- I | ] | I | | I | I I | I | ] ] | I | | I v

10 -9 -8 -7 -6 -5 -4 -3 -2 -1 0 +1 +2 +3 +4 +5 +6 +7 +8 +9 +10

2. (+8) = (-2)

4 | | | | | | | | | | I | | | | | | | | | | »
- I | ] | I | | I | I I | I | ] ] | I | | I v

10 -9 -8 -7 -6 -5 -4 -3 -2 -1 0 +1 +2 +3 +4 +5 +6 +7 +8 +9 +10




3. (+10) + (+2)

4 | | | | | | | | | | I | | | | | | | | | |

= | 1 I | I | 1 I | I I | I | 1 I | 1 | | I
-10 -9 -8 -7 -6 -5 -4 -3 -2 -1 0 +1 +2 +3 +4 +5 +6 +7 +8 +9 +10

4. (=27)+(-3)

< | | | | | | | | | | | | | ] | | | | | | |

A I ] T ] T T ] T I T T ] I 1 ] | 1 ] | 1
-30 -27 -24 -21 -18 <15 -12 -9 -6 -3 0 +3 +6 +9 +12 +15 +18 +21 +24 +27 +30

5. (4+32) = (—4)

< | | | | ] | | | | ] | | ] | | ] | | | | |
- | I ] | I ] 1 ] | I ] | I I I ] 1 I I | I

-40 -36 -32 -28 -24 -20 -16 -12 -8 -4 0 +4 +8 +12 +16 +20 +24 +28 +32 +36 +40

6.  (=50) = (+5)

P | | | | | | | | | | | | | | | | | | | | | »
- | I ] | I | 1 ] | I I ] I I I I I I I I I v

-50 -45 -40 -35 -30 -25 -20 -15 -10 -5 0 +5 +10 +15 +20 +25 +30 +35 +40 +45 +50

7. (+54) = (+6)

< | | | | | | | | | | | | | | | | | | | | | >
- | 1 ] | I ] 1 ] | I ] | 1 I 1 ] I I I I ] v

-60 —54 -48 -42 -36 -30 -24 -18 -12 -6 0 +6 +12 +18 +24 +30 +36 +42 +48 +54 +60

8.  (—10) + (—10)

| | | | | | | ] | | | | ] | | | | | | | |

7 1 1 | 1 T 1 1 | 1 1 ! 1 f T 1 1 1 ] 1 1
-100 -90 -80 -70 -60 -50 -40 -30 -20 -10 0 +10 +20 +30 +40 +50 +60 +70 +80 +90 +100



